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QUESTION 1

Exhibit: 

Please refer to the exhibit. Which activities form part of test planning? 

A. i, ii and iv are true, iii and v are false. 

B. ii and iii are true, i, iv and v are false. 

C. iv and v are true, i, ii and iii are false. 

D. i, ii, and iii are true iv and v are false. 

Correct Answer: B 

 

QUESTION 2

What is the purpose of exit criteria? 

A. To define when a test level is complete. 

B. To determine when a test has completed. 

C. To identify when a software system should be retired. 
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D. To determine whether a test has passed. 

Correct Answer: A 

 

QUESTION 3

Exhibit: 

Which of the benefits displayed in the exhibit are MOST likely to be achieved by using test tools? 

A. ii and iv 

B. ii and iii 

C. i and iv 

D. i and iii 

Correct Answer: C 

 

QUESTION 4

Which of the following would you NOT usually find on a software incident report? 

A. The name and/or organisational position of the person raising the problem. 

B. Version of the Software Under Test. 

C. Suggestions as to how to fix the problem. 

D. Actual and expected results. 

Correct Answer: C 

 

QUESTION 5

Given the following fragment of code, how many tests are required for 100% decision coverage? 

discount = 0 order_quantity=0 real order_quantity if order_quantity >=20 then discount = 0.05 if order_quantity >=100
then discount = 0.1 end_if end_if 

A. 3. 

B. 4. 
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C. 5. 

D. 2. 

Correct Answer: A 
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